

۱۹/۷۵ آفرین

مسئله ص ۱۰۵

(۱)

$$\tan\left(\pi + \frac{\pi}{2}\right) = \tan\left(\frac{\pi}{2}\right) = 1 = BH$$

$$T = \frac{\pi}{11} = \frac{\pi}{p} = ACV$$

$$S_{ABC} = \frac{AC \cdot BH}{2} = \frac{\pi}{2} \cdot \frac{1}{2} = \frac{\pi}{4}$$

$$= \frac{\pi}{4}$$

$$x^r - \sin^2 \alpha - \frac{1}{2} \cos^2 \alpha = 0 \quad \xrightarrow{r = 1/4}$$

$$\frac{1}{4} - \frac{1}{4} \sin^2 \alpha - \frac{1}{2} (1 - \sin^2 \alpha) = 0$$

$$\frac{1}{4} - \frac{1}{4} \sin^2 \alpha - \frac{1}{2} + \frac{1}{2} \sin^2 \alpha = 0 \quad \xrightarrow{\text{طرفین را در ۴ ضرب}} \Rightarrow 1 - \sin^2 \alpha + 2 \sin^2 \alpha - 2 = 0$$

$$\rightarrow \sin^2 \alpha - \sin^2 \alpha + 1 = 0 \quad \xrightarrow{ac} \sin^2 \alpha - \sin^2 \alpha + 1 = 0 \rightarrow (\sin^2 \alpha - 1)(\sin^2 \alpha + 1) = 0$$

$$\rightarrow \sin^2 \alpha = 1 \quad 1 + \tan^2 \alpha = \frac{1}{\sin^2 \alpha} \Rightarrow 1 + \tan^2 \alpha = 1$$

$$C.s \alpha = 1 - \frac{1}{4} = \frac{3}{4}$$

$$1 + \tan^2 \alpha = \frac{1}{\sin^2 \alpha}$$

$$\log \sin \alpha - \log -\cos \alpha = \log r \rightarrow \log \frac{\sin \alpha}{-\cos \alpha} = \log r$$

$$\frac{\sin \alpha}{-\cos \alpha} = r \rightarrow \sin \alpha = -r \cos \alpha \rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 = 9 \cos^2 \alpha + \cos^2 \alpha = 10 \cos^2 \alpha$$

$$\rightarrow \cos^2 \alpha = \frac{1}{10} = \frac{\sqrt{10}}{10} \rightarrow \sin \alpha = \frac{\sqrt{10}}{10}$$

$$\frac{-\sqrt{10}}{10} - \frac{\sqrt{10}}{10} = \frac{-2\sqrt{10}}{10} \rightarrow \sin \alpha - \cos \alpha = \frac{-2\sqrt{10}}{10}$$

$$\sin^2 \alpha + \cos^2 \alpha = \frac{r}{1 - \sin^2 \alpha}$$

$$\cos^2 \alpha + \sin^2 \alpha = \frac{\cos^2 \alpha - \cos^2 \alpha + 1}{1 - \cos^2 \alpha} = \frac{-\sin^2 \alpha + 1}{1 - \cos^2 \alpha} = \frac{-\sin^2 \alpha + 1}{\sin^2 \alpha}$$

$$\sin^2 \alpha - \sin^2 \alpha + 1 = \frac{r}{1 - \sin^2 \alpha} = \frac{1}{1 - \sin^2 \alpha}$$

$$\cos^2 \alpha + \sin^2 \alpha = \frac{-\sin^2 \alpha + 1}{1 - \cos^2 \alpha} = \frac{-\sin^2 \alpha + 1}{\sin^2 \alpha}$$

$$\sin^2 \alpha (\frac{\sin^2 \alpha - 1}{-1}) = \frac{1}{1 - \sin^2 \alpha} \rightarrow \sin^2 \alpha \cos^2 \alpha = \frac{1}{1 - \sin^2 \alpha}$$

$$\frac{r \sin \alpha + \sin \alpha \cos \alpha}{r - r \cos^2 \alpha} = \dots$$

$$\frac{\sin (\pi + \cos \alpha)}{r (1 - \cos^2 \alpha)} = \frac{\sin (\pi + \cos \alpha)}{r \sin^2 \alpha}$$

$$\frac{r + \cos \alpha}{r \sin^2 \alpha} = \dots \Rightarrow \sin \alpha = \dots$$

$$\begin{array}{c|c} - & + \\ \hline + & + \\ \hline - & - \\ \hline + & - \end{array}$$

$$\sin \alpha \tan \alpha - \frac{1}{\cos \alpha} = \frac{\sin^2 \alpha}{\cos \alpha} - \frac{1}{\cos \alpha} = \frac{\sin^2 \alpha - 1}{\cos \alpha}$$

منفی است

4

$$\frac{r}{\sin \alpha} + \frac{r}{\cos \alpha} = 0$$

$$\frac{r \sin \alpha + r \cos \alpha}{\sin \alpha \cos \alpha} = 0 \rightarrow r \sin \alpha + r \cos \alpha = 0 \rightarrow r \sin \alpha = -r \cos \alpha \rightarrow -\frac{r}{r} \sin \alpha = \cos \alpha$$

$$\sin^2 + \cos^2 = 1 \rightarrow \sin^2 \alpha + \frac{r}{r} \sin^2 \alpha = 1 \rightarrow \frac{1+r}{r} \sin^2 \alpha = 1$$

$$\sin^2 \alpha = \frac{r}{1+r} \rightarrow \frac{r \sqrt{1+r}}{1+r} \sin \alpha, \cos \alpha = -\frac{r \sqrt{1+r}}{1+r}$$

$$\tan \alpha + \cos \alpha = \frac{1}{\sin \alpha \cos \alpha} \Rightarrow \frac{1}{\frac{r \sqrt{1+r}}{1+r} \cdot \frac{-r \sqrt{1+r}}{1+r}} = \frac{1+r}{-r}$$

$$\frac{\sqrt{1+\sin \alpha}}{\sin \alpha + \sin \alpha} \rightarrow \sin \alpha = \cos \alpha \rightarrow \sqrt{1+\cos \alpha} = \sqrt{r \cos \alpha}$$

$$\sin(\alpha + \alpha) + \sin(\alpha - \alpha) = \sin \alpha \cos \alpha + \sin \alpha \cos \alpha + \sin \alpha \cos \alpha - \sin \alpha \cos \alpha = 2 \sin \alpha \cos \alpha = \cos \alpha$$

$$\rightarrow \frac{\sqrt{r \cos \alpha}}{\cos \alpha} = \sqrt{r}$$

$$\left(\frac{1 - r \sin^2 \alpha}{r \cos^2 \alpha - 1} \right) \left(\frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \right) = ? = \cos \alpha \cdot \cos \alpha \cdot \cos \alpha$$

$$\frac{\sin \alpha}{\sin \alpha} \times \cos \alpha \times \cos \alpha \times \cos \alpha = \frac{1}{1} \times \frac{\cos \alpha}{\sin \alpha} = \frac{1}{\tan \alpha}$$

$$\sin + r \cos = r \rightarrow \sin = r - r \cos \quad \sin^2 = r - r \cos + r \cos^2$$

$$1 \cdot \cos^2 - r \cos + r = 0 \rightarrow 1 \cdot \cos^2 - r \cos - r = 0$$

$$\frac{1 \cdot \cos^2 - r \cos}{r \cos^2 - 1} = \frac{1 \cdot \cos^2 - r \cos - r}{-r} = ? \rightarrow -1$$

$$\sin B \sin C = \cos \frac{A}{2} \rightarrow r \sin B \sin C = \cos A + 1$$

$$A = 180^\circ - (B+C) \rightarrow \cos A = \cos(180^\circ - (B+C))$$

$$r \sin B \sin C = 1 - \cos(B+C)$$

$$r \sin B \sin C = 1 - \cos B \cos C + \sin B \sin C$$

$$\sin B \sin C = 1 - \cos B \cos C$$

$$\cos B \cos C + \sin B \sin C = 1$$

$$\cos(B-C) = 1$$

$$B = C = 90^\circ \Rightarrow A = 90^\circ$$